TR AR AT

2. RV —FTIOF v
BEEEIOTS53245(1)

—& [l

TFhEHEER
isshiki@ict.e.titech.ac.jp




16Evk<woa7aeyvyasStyh

e MEARSURN : ENER-RKATHILIORFZDAEY
—  AEY : PRLX(12 bits). T—%(16 bits)
- TFxFa.LL—43 (AC: 16 bits)

_ FAYSLAYUE (PC: 12 bits) PN
— REELSRA (E) N i HE
. @ifR:Evrdms |7 L K] e kA TP
- rEUBESS | 11
e EET7FLR _
. MEFRLR T3
_ LUzSBERS AE AC |[eAE8
ADD A : AC « AC + M[A] (EET7FLR)
ADD Bil i :AC < AC+M[M[B]] (R#&FFLR)

_[ e )




AEYSHRAGS

R P L] e 3Gh E%EA
AND adi | AC « AC&M{[ad] ACEAEARTUFDANDEE
ADD adi | A€ < AC + M[ad], ACEAERIARSUFOME
E < C,,(16) (#1LIFC, . (16)ZFEIZRE)
LDA adi | AC « M[ad] ACIZAEYARSUFZEO—F
STA adi | M[ad] < AC ACEAEYICARM7
BUN adi | PC < ad S ICadlT S
. BERT7ELRAZEAEYIZAN? GEEE)
BSA adi | M[ad] « PC,PC < ad + 1 L. ad+11=4)
M[ad] « M|ad] + 1, om=u LS oo .
: H AERYARSUREADVAVRL, £
Szadi | IFMlad] + 1=0)THEN | g o R A5 EAF o7

(adi: R THEESNDZFZRLRIE
Lad: AEYARSUEDTELR(E

(EEFELX :ad = adi
FEEFEL X : ad = M[adi]

I

OV TRk (&I FE
Bl IZEfTSNdET S

B RDERTEIX, ITIZPC €

PC+1 METINTIVSET S

J




AEVSHaS (FEL)

ADD |AC « AC + M[ad],E < C,,,(16)

[Cout(16) : 16E v MINEHT EITE Y ]

Cout(16) w

M[ad]

1. 3 TRYIoN =R (KT R IICRITSNSHET S

BSA |M|ad] <« PC,PC <« ad + 1

HIRTZELRZAEYICAMZ GBEE) L. ad+1I=5i8;

PC.nxt PC.cur
ad +1 > PC > M[ad]

E AC

PC.nxt PC.cur
——>D Q—>

DFF
clk —>

PC.nxt=ad + 1 : ZIREDPC > clkDX

PC X PCcurX ad + 1 }

Dirs LAY THRIREDPCIZRMENS

[PC.cur:ﬁ’lﬁﬁﬁU)PC(M[ad]'\%ﬁ}}) ] Clk _\_/_\_/

M[ad]X

X PC. cur }




AEVSHRaT (FHE2)

Ml|ad] < M|ad] + 1,

52 F(M[ad] + 1 = 0) THEN PC « PC + 1

AEVARFUFEAVIIVAVIL . EDHBRNOGL ERGFTERATYT

1. AXTCRYUILN - KRB IZRfTENhdET S

:IF (M[ad]+1=0) Q¥IFEIE. M[ad] NEFFSNSHETITHOND ]

2. RS DETEIL. TTIZ PC € PC+ 1 BNEFTIATINDET S

IF (£#3X) THEN PC € PC + 1 : FHEXMNTRUEDIHZE . S5IZPC )
| €PC+1ERITII(RMIERAFTVYIT D)

J

:IF (&#X) THEN PC € PC + 1 ] > [SKIP-NEXT IF(&#HX)
(LR, LRED AR RZEATHIESHY) S




LORZSRaT

e Lo X 2Rk foah HL):
ACEYIT
EZVU7
ACZEvYrRER
! E#Evk KRR
‘CIR | AC(14:0) « AC(15:1), AC(15) < EE < AC(Oj AC EEEAEERS T}
LCIL_| AC(15:1) < AC(14:0), AC(0) < E,E < AC(15) | AC L EEEE#E T |
INC |AC < AC+1 ACEAVD) AR
SPA | IF(AC(15) = 0) THEN PC « PC + 1 SKIP-NEXT IF(AC > 0)
SNA | IF(AC(15) = 1) THEN PC « PC + 1 SKIP-NEXT IF(AC < 0)
SZA | IF(AC = 0) THEN PC « PC + 1 SKIP-NEXT IF(AC = 0)
SZE | IF(E = 0) THEN PC « PC + 1 SKIP-NEXT IF(E = 0)
HLT | HALT HEELE




ATty OREE (1)
B AEYSHBaN
MARICZRFLRIE(12ZEYNZET (METFLR-EET
KLR) > @$a—F&K =16 - 12 = 4 bits
AEYSHBEE -RXMS S : AND, ADD, LDA, SRA, ISZ
IO 5 LRITHIEHGR S : BUN (&S 44918), BSA (7D
W—FUHL), ISZ (FHAFERGTTRFVT)
BLORSSRUGT GEATVSEHGR):

A PICFRFLREZEELZL O 6i$3—FEK = 16 bits
BHTEREEE S : CLA, CLE, CMA, CME, INC
DINEHEGT : CIR, CIL
T05 S5 LERITHITEHES : SPA, SNA, SZA, SZE, HLT




ATy OREE (2)

ACZEHI ATt EZHHI5mF
AND | AC — AC&M[ad] | LDA |AC « M[ad] ADD | E « C,y(16)
ADD | AC « AC+ M[ad] | CLA |AC <0 CLE |E <0
CMA | AC « AC INC |AC « AC +1 CME |E < E
CIR | AC(14:0) « AC(15:1),AC(15) « E CIR | E « AC(0)
CIL | AC(15:1) « AC(14:0),AC(0) « E CIL | E « AC(15)
PCEEFI ST HF | AEVZEHEFTFIHNRE |
BUN | PC < ad BSA |PC<—ad+1|| STA | M[ad] < AC
sz | IF(M[ad]+1=0)THEN PC — PC+1 || BSA | M[ad] <« PC
SPA | IF(AC(15) = 0) THEN PC « PC + 1 ISZ | M[ad] « M[ad] + 1
SNA | IF(AC(15) = 1) THEN PC « PC + 1
SZA | IF(AC = 0) THEN PC «— PC + 1
SZE | IF(E = 0) THEN PC < PC + 1




AomHybOT7 T EFELRR

e
<tieHa> (FEAE)SREGT)

<ii5S 4> <label> (EE7ZFLAAEYSEGS
<fi4> <label> I (BEZFLAAE)SEGS

S [ QROHKT—FO
<label>, <85 %> FELRZE<16EFEH>THEE
<label>, <7—%#H{E> [[ORG <16:EFEH>
(=A== . 907>/ thr || <BTT—F>or <7—27—F>
R A AL EE || FFLAEEOBLNT o
<label> , <F—& ) LA {E> ML IRREESND)

B O e e ]
HEX <16i£5E#> END
DEC <10fEH>




HEXHERTH

C=|A|;q:} C=(A<0)?-A:A;

( AC<0DIF

LDA A 1 AC « M[A] . REgR%vT
SNA : SKIP-NEXT IF(AC(15) = 1)
—— /BUN LO :PC < LO<..... [ AC >= 0 735 [
@@ / CMA : AC « AC LON S}
% INC :AC — AC+1 ( ac€-Ac)
L0, STA C : M[C] « AC
}o.  HLT : BT RELL
|A,i DEC -100 :T—%AEFM[A]=-100)
1C,i DECO : T—R2CEEWM[C] =0)

T—SEE : TOJ3LNEERREGTFLRICTEELLL
AR BETENT 2, EEOMNHETELY




EREEME

cougm)
{CH,CL}={AH, AL} + {BH, BL }; AH 7 AL
+[ BH | BL
16EYbT—2%2T7—FT
[ NEYrTF—SE R CH I cL
LDA AL : AC — M[AL]
ADD BL : AC « AC + M[BL], E < C,,,,(16)
STA CL : M|CL| < AC { Fhzi6EyrmED
CLA : AC < 0 ......................... i b 8 Rt
CIL : AC(0) < E (ACO EAZ15EYRE0)
ADD AH : AC « AC + M[AH]
ADD BH : AC — AC + M[BH]
STA CH : M[CH] < AC

( HITR RS OT—42EE X EME ]
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JIONEE

B REBOIL: TAREIFELGLIERGT
REAESIM(X%2) : AC(15:1) « AC(14:0),AC(0) < 0
e EHREHAIINE2):A4AC(14:0) « AC(15:1),AC(15) < 0
B EMIh: TN/ BUIERET (AC(15):F5)

BMASIN(Xx2) : AC(15:1) « AC(14:0),AC(0) < 0

(FREEESTRERIL)
EﬁiE‘/?H+Z) : AC(14:0) « AC(15:1),AC(15) « AC(15)
AC AC
15114 .. “.()” () 15 15{14} .. :
77707 @S \\,\ AEN \\\
15i14 .. Eé 1514} ... : E’E 15i14; .. :
(EﬁiEZE/7I~J — (Eﬁﬂ#ﬁz?h) &, [iﬂﬁ#ﬁy?h] ;




JIONEE

B REBU IO . TR [FELGLIERGT
« WRIEEIIN(X2):AC(15:1) « AC(14:0),AC(0) « 0
ERIERSIM(2) : AC(14:0) « AC(15:1),AC(15) « 0

O %ﬁv?b T—3Z20mBUERTT (AC(15):F45)

o BEEITIN(X2):AC(15:1) « AC(14:0),AC(0) < 0

(FREEESTRERIL)

o HHAIIN(+2):A4C(14:0) « AC(15:1),AC(15) « AC(15)
AANE WEAEVON | AffGIOF | REBEIIR EiES I
1111 1110

0111 1111 1110
4= g : L
Bl | usni-7 = | JSES | cy2-
0111 110
0011 0011 1110
=Y g . o
fa?ﬁ&g : ; 17/21=3 | 7/2]=3 7-2=14 | #7_/2{_71;_)
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SONRRTOTS L

CIL

CIR

AC(14:0) < AC(15:1),AC(15) — E,E < AC(0) | ZLE|15i14:

AC

CIL

AC(15:1) « AC(14:0),AC(0) « E,E <« AC(15) |

2:1:0k

B SREAEIIN2):AC(15:1) « AC(14:0),AC(0) < 0

CLE
CIL

FE <0
: AC(15:1) « AC(14:0),AC(0) « E

ERMEEAS IM(x2) : AC(14:0) « AC(15:1),AC(15) < 0

CLE
CIR

E <0
: AC(14:0) « AC(15:1),AC(15) « E

B#MASIR(Xx2) : AC(14:0) « AC(15:1),AC(15) « AC(15)

| spA

------------------------------------------------------------------------

----------------------------------------------------------

TAC(14:0) <AC(15:1), AC(15) —E
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ElE JNEE

B BRSO T—2DEYRIZEI I ERIZEERT S
« ZEMRIEREITF:AC(15:1) « AC(14:0),AC(0) « AC(15)
- HAEERI I AC(14 0) « AC(15:1),AC(15) « AC(0)

Elﬁli: st AC 1211, \ Cl,[“E 15i14; AC

210\

BRI OGS I e R Lo OCIL/CREIE O R
CLE E < 0 ERE ORI 5L
CIL : AC(15:1) « AC(14:0),AC(0) « E,E — AC(15) (AC(0) = 0)
SZE : SKIP-NEXT IF(E = 0) (JtMDAC(15)M 0THNIXZDEE)
INC :AC <~ AC+1 (AC(0)% 129 371=8)
CLE E < 0 AEER N0 5L
CIR : AC(14:0) « AC(15:1),AC(15) « E,E « AC(0) (AC(15) = 0)
SZE : SKIP-NEXT IF(E = 0) (JtDAC(0)M 0THNIECDFEF)

ADD T :AC < AC + M[T] (M[T]=0x8000&% % > AC(15)% 129 57-8)




EREREEIONER

{ CH, CL}= { AH, AL}<< 1; [163“J|~'7"—’5"EZ'7—|3'E‘
REYRT—2ERER

31i30: .. 7:16|15 “.()"
ﬂwﬂw~%wwo
31:30: - 17 16|15 (\ o D ——y

' “E|15i14i AC i2:i1i0
CLE PE < 0
LDA AL : AC « M[AL] e,
CIL : AC(15:1) « AC(14:0), AC(O) « E,E « AC(15)
STA CL :M[CL] <~ AC T
LDA AH :AC « M[AH] .7
CIL : AC(15:1) « AC(14:0), AC(O) « E,E « AC(15)

STA CH : M[CH] < AC




EREREAIONER

{ CH, CL}= { AH, AL}>> 1; [163“J|~'7"—’5"EZ'7—|3'E‘
REYRT—2ERER

“()"' 31 - 16 15
31 - 18i17:16 1
CLE PE Qe
LDA AH :AC < M[AH] e
CIR : AC(14:0) « AC(15:1), AC(15) « E,E < AC(0)
STA CH : M[CH] « AC .
LDA AL : AC « M[AL] .
CIR : AC(14:0) « AC(15:1), AC(15) « E,E « AC(0)
STA CL : M[CL] < AC
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EREENMAELINER

{ CH, CL}= { AH, AL}>> 1; [163“J|~'7"—’5"EZ'7—|3'E‘

REYrT—42% R

31

7:16|15 -

3

1\\j WA :\\\L

17 16|15 -

:E < 0-
:AC(—M[AH]

.
*

:M[CH] — AC
: AC «— M[AL]
:AC(14:0) <« AC(15:1), AC(15) — E,E < AC(0)
: M[CL] < AC

®
.
.
.
.
.
.
.
.
.
.
.
.
.
.
.
.
.
.
“




BERERR

A | (NEwkxNEvk=2NEwk ) [ inta, b, c;
x B SEBFERAEITED c=a*b;
THRNEYMTEH B
CCH L C ]| S EANE YMSIRED £ [3zE}yl~ x32E vk >
| \USFaISLTHREBNALE )(32EVHR (CEEE

J

ENEVHERERE: [HASLGLIT—2ELTEAS

N-1 N-1
A=2Ai-2i B=ZBi-2i
i=0 i=0

N-1 N-1
A-B=A-ZB,--2i=ZBi°(A'2i)
i=0 i=0

(N=8) 00001001 | (A) 9
00001101 | (B) 13

00001001
000000000

27

9

0000100100 | (C) 117

00001001000
000000000000
00000 00000000
000000 00000000
0000000 00000000

0000000001110101
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EfEFEREOJISLA

A-Bzz_:B,--(A-Zi)

A-2L:ADREBELIH

BlBo)it‘\yl“E _
B;=1DiFE A-2'% CIZhE

=0
00001001 | A
00001101 | B e
00001001 | B, -4 - 2° C_O_;a=A,b=B&'d’%> _
00000000 | B. . 4. 21 = 05 b L
00100100 |B,-4-22 |for(k=0; K <N;k++){
3 5 — R anssseasnses Mo s ans,
01001000 | B3-4-23 || bi=b&1; (B R i EYKB
00000000 |B,-A-2 Lb=b>>1; il ———
00000000 |Bg-A- 25 BT T —
00000000 (Bg-A4-2° |i  ._'¢ya A 2% ¢ [ZhnE
00000000 B7 ‘A - 27 ’ ............. _ ''''''''''''''''''''''''' l """"""""""""""""
01110101 | C a=a<<l; Ha=A4-2
} |

20



EREREOJTSL

=0 K=N; | co[L0, TIOA B Thyi) S
do { Dl E < B;
bi=b & 1; S_ZE .......... I

......
"y
5
-

b=b>>1; S BUNL1
if (bi) _ ___________ BUN L2 e

----------------------

-----------------------------------------------

C=C+a; L ADD A i M[C] « M[C] + M[A] :
a — a << 1; g . ' STA C ....’:..... T e T T T T e T e Ve e tn Ve aTa e aTa Tttty

.....................

k=k +1; CLE
} while (k!=0); | : | CIL i M[A] « M[A] <1 :

*
---------------------------------------------------------------------------------

<T—ASEIS ...................
S BUN LO: cuvp NexT 1F (MIK] + 1 = 0) |

------------------------------------------------------------

DEC 13 <T—HEEEH> |
DEC 0
DEC -16

=< >

-

-

Fﬁ
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BEREEFEEIOISL

...... ) LO, E“']'-:ij'A""B"""innnnn NSNS EEEEEEEEEEEEEEEEEEEEEEEER
00001001 | A : IR PRl
00001101 | B g%%BE‘_ B i
00001001 BO -A- 20 .........................................................................
00000000 |B,- A - y L A ggg k% (SKIPNEXTIF(E ...... 0 )
00100100 | B, - A-2% iiin|L1, {LDA C rtehormosmnneecsinssnnees
01001000 |B;-A-23 i ADD A | M[C] « M[C] + M[A]
00000000 | B, - A - 2* g{%c ......
00000000 |Bs-A- 25 |12, T —
00000000 | Bg - A - 28  CIL ...!,‘!.[f!.]..:..’.‘!.[..f.‘.]...ii.}....
00000000 |B;-A-27 : WSTAA e,
01110101 | C T Loto MIK] < MIK] 1,
— — HLT < SKIP-NEXT IF (M[K] + 1 = 0)
<T QEEH > <T—9-E-=n|!.; --------------------------------------------------------
A, DEC9
g, BEE (1)3 RR—TUhslE, N=sEwkEL
' TIOTSLBEERITT S
K, DEC -8 | 22




B ;s;%:jna“vA[ MIBIOB L

00001001
00001101

00001001

-----------------------------------------------------
‘

>»|L0, i LDA B : M[B = 00001101

C]R F <1
: STA B :M[B] = x0000110 :
..-S.ZE ------------------ r ----------------------------
........... BUN Ll
......... B

-------------------

i STA C_: M[C] = 00001001 :

‘CLE """" " ..... l ............................ b
g}';\ A M[A] = 00010010 :

-------
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B ;s;%:jna“vA[ MBIDB LIt Lok

00001001
00001101

A
B

00001001
00000000

By -A-2 :
B,-A-21

|

‘I

>| LO,

LDALB M|B ]—-x0000110

i CIR iE<0
. STA B : M[B] = 0x000011

o*
]

--------------------

-------
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B ;s;%:jna“vA[ MIBIOB L

-----------------------------------------------------
‘

~»|L0, { LDA' B : M[B = 0x000011
00001001 (A : CIR ‘E « 1
00001101 |B 3%‘%13 : M[B] = 00x00001 :
ot | szET orrerenene e

00001001\ By-A-2" 1 | ... e T

00000000 |B;-A-21 § :
00100100 | B, -A-2% i:i>|L1, {"LDAC: M[C]=oooo1oo1§

.STA.C_| M[C] = 00101101 :
E.‘ CLE ._ ..... l ............................
SR ' M{a) = 01001000

-------
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BEERE TOYS L[ EDREEERE

s[ L0, T LDA B THIB T
00001001 |4 : CIR ‘E <1
00001101 | B . STA B_: M[B] = 000x0000 :
00001001 |By-A-20 | |  “SEEC U
00000000 |B,-A-21 i : |
00100100 | B, - A - 27 >|L1, ' LDAC "} M[C] = 00101101
01001000 |B;-A-23 : ADD A : M[A] = 01001000 :
2 .STA. C..: M[C] = 01110101 :
SRLE e
L2, LDAA l
CIL REE EEEEE CEEEEEEEELEEEEEEEEEELEEEEE .
: STA A . M[A] = 10010000
01110101 | C O I BUN LOE M[K] 4
<7-—9_a.=.*|i§"'l .....................................................

26



iFFiﬁjnb“vA[“?%%‘?ﬁiéﬁ]

00001001 | A
00001101 | B

00001001 [B,-A-2°
00000000 |B,-A-21
00100100 | B, - A - 27
01001000 |B;-A-23
00000000 (B, -A-2*
01110101 |C

-----------------------------------------------------
‘

> Lo, {"LDA'B": MIB = 0000000

---------------------

-------
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iFFiﬁjnb“vA[“?%%‘?ﬁiéﬁ]

00001001 | A
00001101 | B

00001001 [B,-A-2°
00000000 |B,-A-21
00100100 | B, - A - 27
01001000 |B;-A-23
00000000 (B, -A-2*
00000000 |B: - A-2°
01110101 |C

-----------------------------------------------------
‘

> Lo, {"LDA'B": MIB = 0000x000

---------------------

-------
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iFFiﬁjnb“vA[“?%%‘?ﬁiéﬁ]

00001001 | A
00001101 | B

00001001 [B,-A-2°
00000000 |B,-A-21
00100100 | B, - A - 27
01001000 |B;-A-23
00000000 (B, -A-2*
00000000 |B: - A-2°
00000000 | B, -A-2°
01110101 |C

-----------------------------------------------------
‘

> Lo, {"LDA'B": MIB | = 10000x00

---------------------

-------
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BMBERNT OS5 L BT

T ErT
00001001 | A  CIR E<0
00001101 | B .STA B_: M[B] = 0010000x :
00001001 BO A SZE SIr(IPNEXTIF(E ...... 0)
X ]
00000000 |B,-A-2' : ;. .l... BUN L2 4 ..............................................
00100100 | B, - A - 27
01001000 |B;-A-23
00000000 B4-A-24 : ity
00000000 |Bs-A-2° ‘i.>[[2 i LDAA !
00000000 B6 ‘A- 26 PCIL gt e,
00000000 | B, - A - 27 L. STAA. ..M[A] = 00000000 °
01110101 | C ISZ K-{M[K] =0
HLT <+ SKIP-NEXTIF (M[K]+1=0)
<T_9E.|=|n|!>
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